Stellentafel: Flachenmasse — Ubung 1

km?2 ha a m? dm? cm? mm? | Aufgaben
450 ha T e cm?2
3,5 km? T m?
80 cm? SRR m?2
22.25a T e cm?
1255dm? = . mm?
275 m? ORI ha

km?2 ha a m? dm? cm? mm? | Aufgaben
75 mm? T e dm?
25,75 a T e mm?2
1,65 km? S e cm?
345 m? T e cm?
55 ha T e m?
2233 CM? = a

km? ha a m? dm? cm? mm? | Aufgaben
2,5 km? T s m?2
7,25 ha S ARRURUR m?
5,125 a T e cm?
2,75 m? S e e mm?
4 dm? S e a
9,375CM? = i ha

km?2 ha a m? dm? cm? mm? | Aufgaben
1,75 ha e km?2
8,875m2 = ... ha
25 cm? T et a
10,25 ha R, m?2
7,9375 a e dm?
56,789 kM2 = ......cccveviieiiiei cm?

© M. Kunz




